
Trigonometry
SOH CAH TOA

sin 𝜃 =
𝑜𝑝𝑝

ℎ𝑦𝑝
⎯⎯⎯              𝜃 = sinିଵ ቆ

𝑜𝑝𝑝

ℎ𝑦𝑝
⎯⎯⎯ ቇ

cos 𝜃 =
𝑎𝑑𝑗

ℎ𝑦𝑝
⎯⎯⎯             𝜃 = 𝑐𝑜𝑠ିଵ ቆ

𝑎𝑑𝑗

ℎ𝑦𝑝
⎯⎯⎯ ቇ

tan 𝜃 =
𝑜𝑝𝑝

𝑎𝑑𝑗
⎯⎯⎯             𝜃 = tanିଵ ቆ

𝑜𝑝𝑝

𝑎𝑑𝑗
⎯⎯⎯ቇ

Systems

Substitution
𝑎 = 𝑏      𝑐 = 𝑎
        𝑏 = 𝑐

Elimination
      EQ1
−   EQ2 × 2
       EQ3

              X                = ac  

             +                = b  

Polynomials
Distribution
FOIL
Factoring
GCF
𝑎 = 1
𝑎 ≠ 1
𝑎ଶ − 𝑏ଶ

Let 𝑚 =

GCF of "1" 𝑎𝑛𝑑 "(−1)"

Measurement
Conversion Factors

Elimination:
Get rid of the fractions
Line up the terms
Multiply
Add or subtract
Solve
Substitute
Solve
Intersection (𝑥, 𝑦)

Substitution:
Isolate
Substitute 
Solve 
Substitute
Solve
Intersection (𝑥, 𝑦)

Greatest Common Factor −𝟏:
     −2𝑥 + 3 =

−1(2𝑥 − 3)

            5 − 𝑥 =
−1(−5 + 𝑥) = 

   −( 𝑥 − 5)

Word Problems
Let Statements
Equations
Solve

Domain : 𝒙      Range : 𝒚
                    Words: Any real number less than 10
Interval Notation: (−∞, 10)
         Set Notation: {𝑥|𝑥 < 10, 𝑥𝜖𝑅}
       Number Line:
List: 𝑥 = 1,2,3,4 𝑜𝑟 (2,4)(5,6)

Exponent
Laws +  −   ×
Negative Coefficients/Brackets
Fraction/Radical(Root) Form
Change of Base

Surface Area and Volume
Net (Flat) Areas
Formulas

𝑦 = 𝑚𝑥 + 𝑏

𝑦 − 𝑦ଵ = 𝑚(𝑥 − 𝑥ଵ)

𝐴𝑥 + 𝐵𝑦 + 𝐶 = 0

(𝑥ଵ, 𝑦ଵ)           (𝑥ଶ, 𝑦ଶ)
(2, −4)           (−1, −2)

𝑆𝑙𝑜𝑝𝑒 = 𝑚 =
𝑟𝑖𝑠𝑒

𝑟𝑢𝑛
⎯⎯⎯⎯𝑚 =

𝑦ଶ − 𝑦ଵ

𝑥ଶ − 𝑥ଵ
⎯⎯⎯⎯⎯⎯⎯

Slope Intercept

Slope Point

General/Standard

Slope Formula

𝑓(𝑥) = 𝑚𝑥 + 𝑏 Function Notation

Radicals
Laws
Mixed Roots
Entire Roots

𝑑 = ඥ(𝑥ଶ − 𝑥ଵ)ଶ + (𝑦ଶ − 𝑦ଵ)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑐 = ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

    ; 𝑃𝑦𝑡ℎ𝑎𝑔

Midpoint = ቀ
௫భା௫మ

ଶ
⎯⎯⎯⎯⎯,

௬భା௬మ

ଶ
⎯⎯⎯⎯⎯ቁ

400𝑚 ×      
100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯     = 40000𝑐𝑚

Graphing

Distance Formula

TOV

M8-9 Methods

Bedmas/# Forms
Substitution, let m = #
Algebra/Fractions/LCD
𝑇𝑂𝑉
Exponents/Geometry
Distribution/FOIL
Inequalities

# ≠ #   𝑁𝑜 𝑠𝑜𝑙′𝑛
# = #   𝐼𝑛𝑓𝑖𝑛𝑖𝑡𝑒 𝑆𝑜𝑙ᇱ𝑛𝑠

10

See M890

See M850
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